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QUESTION 1
How should you configure the derived values that are relevant for a device?

A. Configure the derived values on the Measuring Component for the measuring components to be defined on the
device.

B. Configure the derived values on the Measuring Component Type for the measuring components to be defined on the
device.

C. Configure the derived values on the Device Type for the derived values to be defined on the device.

D. Configure the derived values on the Final Measurement Type for the measuring components to be defined on the
device.

Correct Answer: D

QUESTION 2

Which two plug-in spots can call the rating functionality using base package-supplied algorithm types? (Choose two.)
A. Adjustment Type - Adjustment FT Creation

B. Billable Charge Template

C. Bill Segment Type - Bill Segment Create

D. Adjustment Type - Generate

E. Bill Segment Type - Bill Segment FT Creation

Correct Answer: AE

QUESTION 3

Which configuration steps are required to derive loss-adjusted kWh on a measuring component based on a loss factor
value related to a service point?

A. Configure a Service Point Characteristic Type and derivation algorithm, and then associate the algorithm to the
Measuring Component Type and the characteristic value to the service point.

B. Configure an SQI and the derivation algorithm, and then associate the algorithm to the Measuring
Component Type and SQI to the service point.

C. Configure a factor and derivation algorithm, and then associate the factor to the Measuring Component Type and the
derivation algorithm to the service point.

D. Configure a factor and derivation algorithm, and then associate both to the Measuring Component Type and service
point.
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E. Configure a Service Point Characteristic Type, factor, derivation algorithm, and Service Quantity Identifier (SQI), and
then associate the SQI and derivation algorithm to the Measuring Component Type and the characteristic value to the
service point.

Correct Answer: B

QUESTION 4

Which three statements are true in relation to Financial Transaction creation algorithms? (Choose three.)

A. They control how the payoff balance is affected.

B. They control when a Financial Transaction is to be swept onto a bill.

C. They control how the General Ledger details are created as these must always exist against a Financial Transaction.
D. They control if and how the General Ledger entries are created.

E. They control how the current balance is affected.

Correct Answer: ABD

Reference: https://docs.oracle.com/cd/E18733_01/pdf/E18368_V1_01.pdf

QUESTION 5

Which three statements are true about initial measurements, final measurements, and usage? (Choose three.)

A. Usage is a synonym for bill determinants.

B. The initial measurement data can be optionally stored in Raw format.

C. A service point can have more than one initial measurement for the same period, but only one final measurement.
D. Final measurements can be directly edited or updated by users or by automated processes as required.

E. Usage is loaded in the application to generate final measurements.

Correct Answer: CDE
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